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IMeV=1.6.10"J « C=3.10°ms" ¢« lu=1.66.10"" kg : <l
m(U)=234.994u ; m(Sr)=93.894u ; m(Xe)=138.889u ; m(Rn)=221.970u

m(Ra)=225.977u ; m(P)=1.007u ; m(jn)=1.009u
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A=222+4 — A=226
Z=80+2 — Z=288

: 22°Ra 3 gll Am S il - -2

Am =7 mp + (A - Z) m, - m(Ra)
Am = ( 88 .1.007) + (226 - 88)(1.009) - 225977 = 1.881u
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Am= (Zm, + (A - Z) m, - m(Rn)
Am = (86 . 1.007) + (222 - 86) (1.009) - 221.970 = 1.856 u
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E,(Rn) 1.856.1.66.10%7 (3.10%)> 1
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Ein = (m (U) + m(n) - m(Sr) - m(Xe) - 3m(n) ) ¢’
Eib = (234.994 + 1.009 - 93.894 - 138.889 - (3. 1.009) ). 1.66 . 10" (3 . 10%)’
Ei =2.88. 10" J =180.21 MeV
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